AN
CAL-ROYAL

Installation Instructions - Standard

C.W. : CLOCKWISE
S RoDUCTS. INC. SPRING POWER ADJUSTMENT  c.c.w.. COUNTER CLOCKWISE
USA
ctockwise | ATTHOARR R AR | appLicBLE
WIDTH
PULL SIDE POOzE S| TURNS OF DOOR PULL SIDE
ADJUSTIN NUT prv— WEIGHT
INTERIOR (SWING OUT)
N . 33~66 Lb
1 5 Tums C.CW | 32'(0.81m) | 28°0.71m) | 1270 -
2 3 Tums C.OW | 360.91m) | 32'0.81m) | (75308
N . 99~143 Lb:
3 PRESET 42"(1.07m) | 38"(0.91m) (45~55kg)s
143~187 Lb:
4 3Tumns CW | 48"(1.22m) | 42'(1.07m) (65~85kg)5
187~264 Lb:
5 6 Tums CW | 54(1.37m) | 48°(1.22m) | g 00 ™8
Right Hand Door - RH ~ Left Hand Door - LH
Left Hand Reverse - LHR 6 9 Turns C.W | 58"(1.47m) | 54"(1.37m) f?goffgotgj Right Hand Reverse - RHR

‘ *INSTALLATION INSTRUCTIONS ‘

0

Use template to locate hole on door and frame:
4 on door for body.

2 on from for track assembly.

' * INSTALLATION INSTRUCTIONS '

T

Use template to locate hole on door and frame:
4 on door for body.
2 on from for track assembly.

215" o e 2356 |
=1 “75) S 18-114,"(466) ——)O | | Ol.— 18-114,"(466) — 3 7oy
@ 4 Dill or M5 x 0.8 TAP & 2_%2.. 2_%2.. & @ 4 Dill or M5 x 0.8 TAP
| 1952'(28) ©9 59 19:7'(28) ;
o > @ 5 Dill or 3,"(19) 2 f f f f 2 3,"(19) @ 5 Dill or _— 5
1/4 x 20 TAP f 4r 1/4 x 20 TAP

" 2-1%¢"

T g F 11-%4"(282.50) 44 %7 11-%6"(282.50) —{ 5

(75)

Hold-Open: Slider, Stopper, Side cap into the track.
Non Hold-Open: Slider, Side cap into the track

Direction

and
Sequence

Slider

(2]

Hold-Open: Slider, Stopper, Side cap into the track.
Non Hold-Open: Slider, Side cap into the track

Direction
and
Sequence

Install the track assembly to the frame.
Install the body to the door

(3]

Install the track assembly to the frame.
Install the body to the door

(& ~ 9) & @)
haNy ad
. = = i
o] ® ® lo
9| ~ @ Track Track ® - [
T T
Body Body
e Install main arm to pinion shaft, see Figure 1, e Install main arm to pinion shaft, see Figure 1,
e  Set the main arm and the slider, see Figure 2, e  Set the main arm and the slider, see Figure 2,

Main Arm

Adjust Hold-Open angle and speed power.
Install cover to the body.

[5]:

‘ CLOSER ADJUSTMENTl
Fixing Hole

FJ @ @ Q//©for Cover N Spring Power

< '~ Adjusting Nut
Latch

Speed Sweep\ \ Optional \ BackCheck

Speed Delayed Action

Control

5]
Main Arm
@ l\
. <’?>
e Adjust Hold-Open angle and speed power. S
e |Install cover to the body.
BACK Cy
£ Fast N © 0 K2 Decrease
45 \\
o \\\\\
Slow [E—— Increase

DWG #. DCG1017 - 1/2 - APR2022



AN
CAL-ROYAL

PRODUCTS, INC.
USA

PUSH SIDE

Installation Instructions - Top Jamb
|

AN INCORRECTLY INSTALLED OR IMPROPERLY
ADJUSTED DOOR CLOSER CAN CAUSE PROPERTY
DAMAGE OR PERSONAL INJURY.

THESE INSTALLATION INSTRUCTIONS SHOULD

BE FOLLOWED TO AVOID THE POSSIBILITY OF
MISAPPLICATION OR MISADJUSTMENT.

CAUTION
CAUTION

PUSH SIDE

Left Hand Door - LH
Right Hand Reverse - RHR

Right Hand Door - RH
Left Hand Reverse - LHR

' INSTALLATION INSTRUCTIONS '

(1]

Use template to locate hole on door and frame:
4 on door for body.
2 on from for track assembly.

215" »
~ 5 t 1147(282.50) 421)
@ 5 Dill or +

|
¢ O 114 x 20 TAP G J

1-%2"(28;
- o 52"(28) 254"

* )
ﬁ @ 4 Dill or M5 x 0.8 TAP
i
L 2 18-747"(466)

INSTALLATION INSTRUCTIONS '

1 | e Use template to locate hole on door and frame:
4 on door for body.

2 on from for track assembly.

57 1147(282.50) 2(“75?5
O

—
@ 5 Dill o |
1/4 x 20 TAP O ¢

i

254 1%2(28)
(85) T

- -

@ 4 Dill or M5 x 0.8 TAP /’T
15/ "
18-1%57(466) 2 N

Hold-Open: Slider, Stopper, Side cap into the track.
e Non Hold-Open: Slider, Side cap into the track

Track

@@

Side cap Slider

N
L]

Hold-Open: Slider, Stopper, Side cap into the track.
e Non Hold-Open: Slider, Side cap into the track

7
ol CAUTIO
e or F
& = and

Sequence

Track —— 7 ?
CAUTION ‘/ﬁ i E
Direction l o : =
and HI @ ‘\m\
Sequence %\Q Stopper

e Install the Body to the frame.
Install the track assembly to the door.

@l l@ __— Body
@‘ ‘@
¥ _
(@ \ — 98]
\ “J
Track assembly

(3]

Install the Body to the frame.
Install the track assembly to the door.

// )

Track assembly

Install main arm to pinion shaft, see Figure 1,
Set the main arm and the slider, see Figure 2,

[4];

Install main arm to pinion shaft, see Figure 1,
Set the main arm and the slider, see Figure 2,

Main Arm Main Arm
e  Adjust Hold-Open angle and speed power. e  Adjust Hold-Open angle and speed power.
e Install cover to the body. e Install cover to the body.

e  See other page for closer adjustment

==

e  See other page for closer adjustment

DWG #. DCG1017 - 2/2 - APR2022




	Sheets and Views
	Layout1

	Installation GuidelineTrack 900_.pdf
	Sheets and Views
	Layout2



